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2. bash

$ ruby selenium_issue.rb




seleniumT&f < redmine

driver = Seleniu

driver.navigate.to('http://vaddy-redmine.farend.ne.jp/redmine/login')
driver.find _element(:id, 'username').send_keys 'admin'

driver.find _element(:id, 'password').send _keys 'admin'
driver.find _element(:id, 'login-submit').click

driver.navigate.to('http://vaddy-redmine.farend.ne.jp/redmine/projects/ecookbook/issues/new")

driver.find_element(:id, 'issue subject').send_keys 'ticketl'
driver.find _element(:id, 'issue_description').send_keys 'ticketl'
driver.find element(:xpath, '//x[@id="issue-form"]/input[3]"').click

driver.quit




seleniumT&f < redmine

] driver = Selenium: :WebDriver.for :chrome
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driver = Sel
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driver =



seleniumT&f < redmine

driver.navigate.to('http://vaddy-redmine.farend.ne.jp/redmine/login')

driver.navigate.to('http://vaddy-redmine. farend.ne.jp/redmine/projects/ecookbook/issues/new"')
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driver.navigate.to('http://vaddy-redmine.farend.ne.jp/redmine/login"')




seleniumT&f < redmine

driver.find_element(: 'username').send_keys 'admin'
driver.find_element(: '‘password').send_keys 'admin'

driver.find element(:: 'issue_subject').send _keys 'ticketl'
driver.find_element(: 'issue_description').send_keys 'ticketl'
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©
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driver.find _element ( , 'issue subject').send keys 'ticketl!'
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selenium & < redmine

©
RIS

driver.find_element ,B'1issue_subject').send_keys 'ticketl'

‘name, :xpath
CTHOK
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seleniumT&f < redmine

©
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driver.find_element( , '1ssue _subject').send keys 'ticketl'
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seleniumT&f < redmine

driver.find_element(:id, 'login-submit').click

Zl driver.find_element(:xpath, '//*x[@id="issue-form"]/input[3]"').click
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driver.find element( , ''login-submit').click
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Mac : command + a

wWindows : control + a
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driver.find element ( , 'issue notes').send keys/(
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driver.find element ( , 'issue notes').send keys/(
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driver.find element ( , 'issue notes').send keys/(

windowsDiE4&  :control
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O i wait %z 5 5

Zall wait.until{driver.find element(:id, 'test').displayed?}

el wait.until{'!driver.find_element ( , 'test').displayed?}
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O i wait %z 5 5

0 walt = S

Zall wait.until{driver.find element(:id, 'test').displayed?}

el wait.until{'!driver.find_element ( , 'test').displayed?}
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O i wait %z 5 5

@ walt.until{driver.find_element , 'test').displayed?}

el wait.until{'!driver.find_element ( , 'test').displayed?}
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O i wait %z 5 5

Zall wait.until{driver.find element(:id, 'test').displayed?}

@ wait.until{'!'driver.find_element , 'test').displayed?}
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a7y ~ I AR~

driver.action.key_down( ).click(driver.find_element(:id, 'test'))

.key up(:control).perform

key down ... ¥F—R—RKRZ#HTUCREBDXKICT S
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driver.action.key_ down( ) .click(driver.find element (

. key _up . ) .perform

key down ... ¥F—R—RKRZ#HTUCREBDXKICT S
key up ... B TFULexF—N—RZBT
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